
Word problems 

 

1) Class 3 normally has thirty pupils in it. On Tuesday there were two 

children off sick. How many children were in Class 3 on Tuesday? 

2) In the park five children can sit at a table. There are twenty children in 

the park. How many tables will they need so that they can all sit down? 

3) Class 6 normally has twenty-four children. On Friday they had three 

extra children who were not able to go on a school trip. How many 

children did Class 6 have on Friday? 

4) Each desk in a class has two chairs. How many chairs would ten desks 

have? 

 

To access the 4 complete worksheets (including answers) with 11 questions 

on each, at these levels of difficulty: 

 one-step word problems, using all four operations 

 as above, but also two-step addition and subtraction problems 

 two-step word problems, using all four operations  

 

visit 

http://www.saveteacherssundays.com/maths/year-3/100/word-problems/  

where you will also find word problems for other year groups 
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